PAGE  
3

ECON 815: Economic Analysis for Business
Solutions for Problem Set 3
Professor D. Weisman
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Competitive Outcome: Set  P = MC.
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Monopoly Outcome: Set  MR = MC.
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The DOJ will approve the merger if the post-merger price is no greater than the pre-merger price. This implies that 
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Monopoly price: Set  MR = MC
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Hence, 
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b) Competitive Outcome: Set  P = MC.
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Consumers are better off by 14( CSc – CSm) if the competitive outcome prevails rather than the monopoly outcome.
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If n=1 (monopoly) 
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Monopoly: MR = MC 
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Competitive: P = MC   If n=2, 
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The consumer pays the lowest price when n=2. It is the smallest (integer) number of competitors that eliminates market power, while avoiding the cost inefficiencies inherent in a larger number of providers.
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3. Aggregate Market Demand: 
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      Sub Market 1 Demand: 
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Sub Market 2 Demand: 
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Uniform Monopoly Price: Inverse Demand, 
[image: image26.wmf]1

18

2

PQ

=-


(1) 
[image: image27.wmf]18414,11

mm

MRQMCQP

=-==Þ==


Uniform Pricing Monopoly Profits: 
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Third Degree Price discrimination: Set profit-maximizing prices in each individual submarket.

Submarket 1: 
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Submarket2: 
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Therefore, 
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If resale cannot be prevented, the monopolist will sell all of its output at the lowest price that prevails in any submarket. In this case, the lowest price is 
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Note: Profits are lower than under uniform monopoly price.
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a) Monopoly post-merger: 
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First, compute pre-merger CS. The production function is given by 
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Competitive outcome pre-merger:
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Post-Merger, 
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units of K; 
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units of L; Set MR=MC; 
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Consumers are worse-off by 
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b) The market for air travel remains perfectly competitive following the merger and 
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The competitive firm sets p=MC, or

(1) 
[image: image57.wmf]11

164

22

qQ

æö

+-=

ç÷

èø

  Solve for Q:
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Solve for values of q for which 
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c) The market for air travel remains perfectly competitive following the merger. Service quality declines by 25% following the merger. The new level of service quality, 
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A competitive firm sets p=MC in equilibrium. Find a general expression for marginal cost(MC) that is a function of x. Each unit of output requires: 
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Hence, the cost function post-merger is given by
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Set p=MC when q=3
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Solve for the values of x for which 
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pc=MC=5/x





CS(x)= (1/2)(35-(10/x))(17.5-(5/x))= (17.5-(5/x))2
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